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CDP
Adobe Acrobat Reader is an example of
1. Hackers
2 Freeware
3. Cyber patrol
4 Crackers

The child first gets control over shoulder muscles, then hand
muscles and afterwards over the fingers. This developmental
principle is

1. Proximodistal
2 Cephalo-caudal
3. Spiral

4 Linear

The child develops a sense of trust in people when the parents
provide him

1. Money and Comforts
2 Love and Security

3. Money and Status
4

Freedom and Independence

One of the following is not true with respect to the emotional
development at early childhood stage.

1. Emotions are expressed in relation to concrete objects
2. Emotions are expressed even in the absence of concrete
objects

3. This is a period of great control and stability of
emotions

4. Children at this stage can hide their emotions



In order to save disk space, to transmit over a different
network large files can be compressed. These files are called
as

1 Zip
2. Bit
3. Pdf
4 Mp3

The elementary school age is between 7-10 years.
It is known as

1. Early Childhood stage
2 Later Childhood stage
3. Infancy stage
4

Pre-operational stage

The cognitive structures that children and elders use to adapt
to the objects in the environment are called as

1. Adjustment patterns
2 Cognitive attributes
3. Reflexes
4

Schemata

‘The model of structure of the intellect’ was proposed by
1 Guilford
2. Binet

3. Thorndike
4

Spearman



10.

11.

12.

Pick the one from the following which is not an ‘acquired
individual difference.’

1.

2.
3.
4

Social
Educational
Physical
Cultural

The number of factors in “Cattell’s personality factors test”

1.

2.
3.
4

2
12
16
8

One of the following is not the individual test of intelligence

1.

2
3.
4

Binet — Simon test
Army alpha
Wechsler’s Intelligence scale

Porteus Maze tests

The number of test items that the test of mechanical reasoning
of DAT (Differential Aptitude Test) Consists of

1.

2.
3.
4

50
68
100
42
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14.

15.

16.

Among the Blocks of creativity, “imposition of self-
restrictions” comes under this category

1.

2.
3.
4

Perceptional blocks
Intellectual blocks
Emotional blocks
Cultural blocks

“Psychoanalytic Theory of Development” emphasizes about

1.

The importance of early childhood experiences on later
development of child

Learning of stimulus-response associations
Cognitive abilities and perception

The ability to construct mental images

The “Attention seeking behaviour” symptom is exhibited
in these children

1.

2.
3.
4

in case of single child
in case of the rejected child
when the child is poor in social adjustment

when the child is in poverty

The type of learning in a formal School

1.

2.
3.
4

Informal learning
Intentional learning
Non-formal learning

Natural learning
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18.

19.

20.

Pick up the one form the following which is the correct
sequence regarding the process of concept formation

1. Sensation, abstraction, perception, generalization
2 Familiarity, analysis, generalization, perception
3. Sensation, perception, abstraction, generalization
4 abstraction, generalization, analysis, perception

The type of observation where the teacher observes the
students while playing in the playground without their
knowledge is

1 Controlled observation
2 Natural observation

3. Participant observation
4

Introspection

Pavlov’s ‘classical conditioning’ is an example of this theory
of learning

1. Behavioristic theory
2 Cognitive theory

3. Humanistic theory

4 Developmental theory

“The learning trials must be associated with satisfying
consequences”. This implication is of

1. Law of readiness
Law of exercise

2
3. Law of effect
4

Law of use and disuse



21.

22.

23.

24.

One of the following is not correct with regard to the features
of group dynamics

1. Groups have certain standards to work with

2 People in a group exhibit group behaviour

3. The patterns of relationships are same for all activities
4 Pupils and teachers are interdependent in involving

classroom activities.

The Psycho-social difficult situations at the age of 12 to 20
years as proposed by Erikson in his psycho-social theory of
development are

1. Trust - Mistrust

2 Role identity - Role confusion
3. Industry - Inferiority
4

Intimacy - Isolation

The love bug computer virus is of this type
1. Trojan Horse

2 Time bomb

3. File destroyer
4

Boot Sector virus

The connection between a stimulus and a response are

strengthened when they are used. This is according to
Thorndike’s

1. Law of Exercise
2 Law of Readiness
3. Law of Effect

4 Law of Insight



25.

26.

27.

One of the following does not imply the “Mental discipline
theory” of transfer of learning.

1.

Learning of ‘logic’ enables to use logical skills in
solving math problems

Learning of ‘grammar’ promotes the understanding of
logic

Transfer of learning occurs when there are identical
elements

Transfer of learning occurs by using memorized
knowledge through general understanding

Pick the one from the following to support the idea that
“Teaching is a science”

1.

Teaching involves skill to dissimilate language to
sustain the interest.

Teaching to be effective, teacher must frame his own
teaching philosophy

Teaching incorporates systematic and methodological
approaches

The teaching strategies are adopted to fit the teacher’s
personal teaching style.

In a study on the “influence of the study habits of the children
on the achievement”, the “Achievement of the children”
comes under

1.

2.
3.
4

Dependent variable
Dual variable
Intervening variable

Independent variable



28.

29.

30.

Participation of the learner in the enquiry based learning is

1.

2.
3.
4

dependent
active
passive

not apparent

The activities which a teacher performs before the classroom
teaching is of this phase of teaching

1.

2.
3.
4

Planning phase
Execution phase
Reflection phase

Introduction phase

Pick the one which is not true with regard to the importance of
emotional intelligence in the classroom context

1.
2.
3.

Teaching involves emotional relationships
Teaching requires high level of emotional intelligence

High level of emotional intelligence consumes a great
deal of energy for teaching

While dealing with stress at school Emotional
intelligence uses coping strategies
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Language - 1 _ English

1.  Read the following passage carefully:

The ancient scroll contained only a single symbol, a mark that
scholars had never seen before. It held the key to a forgotten
language.

What does the symbol represent? Choose your answer from
the following.

1. A hidden treasure.

2 A forgotten language.
3. A famous legend.
4

A mystical creature.

2. Read the following passage carefully:

The old book was said to be cursed, for everyone who opened
it disappeared without a trace.

What is unusual about the book? Choose your answer from the
following.

1. It was written in a strange language.
2 It had no title.

3. It was indestructible.
4

It caused people to vanish.



3. Read the following poem carefully:

Through the whispers of the trees,
A secret song floats on the breeze.
Its melody is soft and clear,
Calling to all who listen near.

What is the mood of the poem? Choose your answer from the
following.

1. Excitement and joy

2 Sadness and loss

3. Calmness and mystery
4

Anger and frustration

4. Read the following poem carefully:

The golden sun dips low at last,
Painting the sky as it sinks fast.
Shadows stretch and grow with night,
As stars begin to cast their light.

What does the "golden sun" symbolize in the poem? Choose
your answer from the following.

1. The end of the day.

2 The beginning of a journey.
3. A new adventure.
4

The heat of summer.

5. During a conversation, a colleague says:

"I might be able to help with the project, but I'll need to check
my schedule first."

What does the speaker mean?

Choose your answer from the following.

1. He is certain he will help with the project.

2 He cannot help with the project at all.

3. He is unsure if he can help and will need to confirm.
4 He is not interested in the project.



6. During a team meeting, the manager says:

"If [ had known the market would shift, I would have adjusted
our strategy sooner."

What does the manager imply?

Choose your answer from the following.

1. The market shift was anticipated and planned for.
2. He was unaware of the market shift in time to change
plans.

The strategy succeeded despite the market shift.
4. The strategy was modified midway through.

7. You overhear a colleague say:

"The new software is supposed to improve efficiency, but it’s
made things more confusing for me."

What does the speaker think of the software?

Choose your answer from the following.

1. He finds the software beneficial.

2 He dislikes the software and finds it confusing.
3. The software has improved their work.

4 He is indifferent about the software.

8. Imagine you are Shreya. You're at a business conference and
want to introduce yourself to a potential client.

Identify the best approach for the situation above.

1. "Hi, I don’t usually introduce myself, but here [ am."

2. "Can I have your business card?"

3. "I don’t know why I’m talking to you, but here’s my
card."

4. "Hi, ’'m Shreya. It’s a pleasure to meet you. What are

you hoping to get out of this conference?"



10.

11.

During a presentation, you need clarification on a concept.
Identify the best way to ask for clarification:

1. "I didn’t get anything you said."
2. "I don’t need clarification; I already know everything."
3. "Could you please explain that part again? [ want to be

sure I understand."

4. "Your point is unclear."

In a product review, you read:

"The laptop’s speed is exceptional, but the display quality
could be better."

What does the review suggest about the laptop?

Choose your answer from the following.

1. The laptop has a great display but is slow.

2 The laptop’s speed is poor, but the display is good.
3. The laptop is fast but has a subpar display.

4 The laptop is average in speed and display quality.

A job posting says:

"Candidates must have at least two years of experience in
digital marketing and be proficient in social media tools."

Identify the minimum requirement for this job:

1. Two years of digital marketing experience.
2 Proficiency in social media tools only.

3. A degree in marketing.
4

Three years of experience in project management.



12.

13.

A research paper abstract states:

"This study investigates the impact of virtual classrooms on
student interaction and learning outcomes. It suggests that
while virtual classrooms offer flexibility, they also pose
challenges in student engagement."

What is one challenge mentioned? Choose your answer from
the following.

1. Virtual classrooms are inflexible.
2. Virtual classrooms struggle to maintain student
engagement.

Virtual classrooms improve student interaction.

4. Virtual classrooms have no effect on student
engagement.

You read a contract that says:

"The service provider will not be responsible for damages
caused by misuse of the service. The contract will
automatically renew every year unless cancelled 30 days
before the renewal date."”

Identify what happens if the client doesn’t cancel the contract
30 days before the renewal.

1. The service will be terminated.
2. The client will need to pay a penalty.

3. The service provider will contact the client for renewal
confirmation.

4. The contract will automatically renew.



14.

15.

16.

17.

You are organizing a business report.

Identify the best way to structure it:

1. Include all information in random order and summarize
at the end.

2. Begin with an introduction, follow with key points, and
conclude.

3. Start with the conclusion and end with your personal
opinion.

4. List every detail in bullet points without structure.

You are writing an essay about the role of technology in
education.

Identify the best way to support your argument:
1. "Technology is important because everyone uses it."

2. "Some people don’t think technology is necessary, so I
don’t need to explain."

3. "Technology enhances learning by making resources
accessible and improving engagement."

4. "Technology is useful because I say it is."

Identify an example of elision from the following.
The /r/ in "car" pronounced strongly before a vowel.
The /p/ sound in "stop" becoming aspirated.

The /t/ sound in "cat" being fully pronounced.

el

The omission of the /d/ sound in "handbag" pronounced
as "hanbag."

Stress-timing in English refers to the following.

1. The pattern where stressed syllables occur at regular
intervals.
2. The reduction of consonants in unstressed syllables.

The tendency to emphasize every syllable equally.

4. The removal of vowel sounds in unstressed syllables.



18.

19.

20.

21.

22

Identify the feature of an allophone.

1. Two words that differ by one phoneme.
2. Words that have identical spelling but different
meanings.

A sound that changes the meaning of a word.

4. Different sounds that do not change the meaning of a
word..

Identify the bound morpheme from the following.
"Run" in "running"
"Re_" in "I'edO"

"Car" in "cars"

Sl ol

"Eat" in "eaten"

One of the following is an example of compounding. Choose
it.
1 "Bedroom" (from "bed" + "room")
2 "Untie" (from "tie")
3. "Runner" (from "run")
4

"Phone" (short for "telephone")

The following morphological process involves changing the
word class without adding affixes:

1. Blending

2 Inflection
3. Conversion
4 Derivation

Identify the sentence with an object complement:

1. "He is happy."

2. "They gave her a gift."
3. "She has a book."

4. "She made him angry."



23.

24.

25.

26.

Pragmatics focuses on:

1.

2.
3.
4

1.
2.
3.
4.

The meaning of words in isolation.
How context influences the interpretation of meaning.
The study of sound systems in languages.

The history of word development.

Identify the sentence that demonstrates structural ambiguity:

"The cat is on the mat."
"She loves her job."
"Flying planes can be dangerous."

"The boy ate an apple."

The informative function of communication is primarily used

to:

1

2.
3.
4

Give factual information.
Establish rapport.
Express personal feelings.

Persuade someone to do something.

One of the following is an example of the expressive function

of communication:

1.

2.
3.
4

Giving directions or commands.
Asking questions.
Sharing personal thoughts or emotions.

Reporting an event.



217. In a formal speech, you begin with an interesting fact before
diving into the main topic.

What is the purpose of this initial communication? Choose
your answer from the following.

1. To share information.

2 To entertain the audience.

3. To express personal opinions.

4 To build rapport and engage interest.

28. During a job interview, the interviewer asks you to explain
your career goals.

What is the primary purpose behind this question? Choose
your answer from the following.

1. To evaluate your problem-solving skills.
2 To share information about your work experience.
3. To assess your long-term career plans and ambitions.
4 To build rapport with you.
29. Vani has been having a rough time at home ever since she lost
her father

Identify the meaning of the idiom ‘having a rough time’ in the
sentence above.

1. Taking time off work.

2 Enjoying a fun period at work.
3. Having a lot of problems.
4

Going on vacation.



30.

During a meeting, someone says, "Our sales were good last

year. We sold 100,000 units of product A, 200,000 units of
product B, and 150,000 units of product C."

The speaker is adhering the following maxim from Grice’s
Cooperative Principle in his speech.

1. Maxim of Quantity (provide the right amount of
information).
2. Maxim of Relevance (stay on topic).

Maxim of Manner (be clear and orderly).

4. Maxim of Quality



Language - 2 ENGLISH

How happy and proud I shall be when we both have brought
our work on relatively to a victorious conclusion.

The synonym for ‘conclusion’.

1. beginning

2 middle
3. outcome
4 start

For quite a while Evelyn managed to conceal her growing
deafness from friends and teachers.

Identify the antonym of ‘growing’ in the context of the
sentence

1. moving
2 aspiring
3. noticing
4 shrinking

The new policy by the committee last month.
Identify the best option that fits the blank.

1. is approved

2 will approve

3. was approved
4

approves



Choose the prefix that means ‘below’ or ‘under’:
1. sub-

2 anti-
3. super-
4 bi-

When she spilled the beans about the surprise party, everyone
was disappointed.

Choose the meaning of ‘Spill the beans’ in the above sentence:
1. to reveal confidential information

2 to make a mess

3. to cook something
4

to lose something

He came across an old photo album.

Identify the meaning of ‘come across’ in the context.
1. to avoid

2 to destroy
3. to ignore
4

to encounter unexpectedly

Identify the word that would come last in a dictionary section
that contains words starting with “Pro”?

1. Procrastinate
2 Procedure

3. Proficient
4

Production



10.

11.

Identify the sentence that correctly uses commas to avoid
confusion:

1. Let’s eat Grandma!
2 Let’s eat, Grandma!
3. Lets, eat, Grandma!
4

Lets, eat Grandma!

I was too tired to do any more work.

Choose the sentence that correctly converts the simple
sentence into a compound sentence:

1. I was tired, but I did more work.

2 I was tired, so I could not do any more work.
3. I was tired and did not do more work.

4 I did not work anymore because I was tired.

Identify the grammatically correct sentence:
1. The police is coming.

2 The police are coming.

3. The police is come.
4

The police are come.

Select the poetic function example.

1. Whispering winds wove wistful whispers.
2 Where did you buy this?

3. I feel very tired.
4

Please open the door.



12.

13.

14.

15.

Identify the correct spelling of the word.

1.

2
3.
4

Identify the correct transformation of the following sentence

exagerate
exaggerate
exxagerate

exaggerrate

into reported speech: He said to me, “I don’t believe you.”

1.

2.
3.
4

He said the he didn’t believe me.

He said that he didn’t believe you.

He said I didn’t believe you.

He told me that he did not believe me.

Choose the correct example of a noun clause as an object:

1.

2
3.
4

I have been wondering.
Does anyone know me?
This was exactly what I was looking for.

A tub of tender coconut ice cream is expensive.

Identify the term for the morbid compulsion to start a fire.

1.

2.
3.
4

Kleptomania
Pyromania
Dipsomania

Mythomania



16.

17.

18.

19.

Everybody happy with the outcome.
Choose the correct option that fits the blank.

l. were

2. was

3. are

4 has

Choose the sentence that is an interrogative:

1.

2.
3.
4

She is a skilled negotiator.

Bring the book.
Where did you find this?
I love this song.

Please call me later.

the deal with the clients.
Choose the linker that fits the blank.

1.

2.
3.
4

Identify the correct usage of the definite article before names

Nevertheless
In summary

Consequently
Although

of ships and trains.

1.

2.
3.
4

There are many ships on the beach
The Titanic
Vandebharat runs on many routes in India

I sent my furniture by ship

, she successfully closed



20.

21.

22.

23.

You call me as soon as you arrive.

Choose the modal verb to express a command.

1. would
2 can

3. must
4 might

Choose the sentence that correctly uses a possessive pronoun.
1. She gave the book to himself.

2 The dog wagged it’s tail.

3. They brought themselves new toys.

4

This book is mine.

Choose the sentence that correctly uses a coordinating
conjunction.

1. She likes apples but oranges
2. He wanted to go, so he left early.

3. We went to the park and played soccer though it started
raining.

4. You can stay here, nor you can leave.

The final part of a diary entry usually includes
Choose the option that fits the blank.

1. review of upcoming deadlines

2 a list of things to do tomorrow.

3. a closing line or sign off.
4

a detailed description of the day’s weather.



24.

25.

26.

27.

One of the following details might be included in the
“Additional information” section of an invitation.

1
2.
3.
4

the host’s name
the event’s theme
dress code

the event’s schedule

One of the following is the correct usage of the present perfect
continuous tense. Identify it.

1.

2.
3.
4

We have lived here for five years
She has finished her dinner
He has been running a marathon.

They have visited Paris.

Identify the structure of a positive sentence in the present
perfect continuous tense.

1. Subject + has / have + Past Participle + rest of the
sentence.

2. Subject + has / have + been + verb + ing + rest of the
sentence.

3. Subject + will + base form of the verb + rest of the
sentence.

4. Subject +is / am / are + verb + ing + rest of the
sentence

He was absent illness.

Choose the preposition that fits the blank.

1.

2
3.
4

in light of
in exchange for
due to

in place of



28.

29.

She accepted the award her team.
Choose the option that fits the blank.

1. in spite of

2 in charge off

3. in regard to

4 on behalf of

Read the passage carefully

Unemployment is a persistent problem in India, particularly
among young adults and rural populations. Economic
fluctuations, skill mismatches, and inadequate job creation
contribute to high unemployment rates. Government schemes
and private sector initiatives aim to address this issue through
skill development and employment generation, but finding
sustainable solutions remains a priority.

Identify the primary factor contributing to high unemployment
rates:

1. over employment

2 skill mismatches

3. excessive job creation

4 stable economic condition



30.

Read the passage carefully

Unemployment is a persistent problem in India, particularly
among young adults and rural populations. Economic
fluctuations, skill mismatches, and inadequate job creation
contribute to high unemployment rates. Government schemes
and private sector initiatives aim to address this issue through
skill development and employment generation, but finding
sustainable solutions remains a priority.

Government schemes and private sectors initiatives focus on
to address unemployment.

Choose the option that fits the blank.

1. entertainment

2 increasing imports

3. reducing educational standards
4 skill development



ENGLISH _ CONTENT & Methodology

Identify the best option that fits the blank.

She had to the task after her colleague left the
company.

1. figure out
2 break down
3. take over
4

look after

He was not the sharpest tool in the shed when it came to fixing
the computer.

Identify the meaning of ‘not the sharpest tool in the shed’ in
the above sentence.

1. good at understanding

2 physically not fit to carry something
3. not very intelligent or quick-witted
4 very skilled at everything

When referring to a period of time, distance, or sum of money,
use a verb.

1. plural
2 dual
3. multiple
4

singular



In a dictionary where words are ordered strictly by their first
letter, the following word should be placed after ‘impede’.

1. imperative
2 impression
3. impact
4 import

Choose the example where the definite article is used before
the names of certain specific organisations or buildings.

1. The House of Parliament

2 The lion is ferocious

3. The sun shines during the day.
4

The goat was all skin and bones

Identify the type of conditional sentence in the following.

If they stay indoors, they will not become sick.

1. Zero conditional

2 First conditional

3. Second conditional

4 Third conditional

The conclusions drawn from the experiment in the

scientific journal last month.
1. published

2 were published

3. have been publishing
4 will publish



10.

11.

Choose the correct prefix that means ‘between’ or ‘among’

1. ex-
2. re-

3. sub-
4 inter-

If a dictionary entry includes multiple definitions for a word, it
means ....

1. The word has several different meanings depending on
the context.

2. The word is misspelt in the dictionary
The word can only be used in one specific context.

4. The dictionary entry is incomplete.

Gold is the most precious metal.

Choose the positive degree of the sentence.

1. Some other metals are more precious than gold.
2 Gold is so precious as any other metal.

3. No other metal is so precious as gold.

4 Gold is not a precious metal.

Identify the sentence with the correct question tag.

1. One of the boys was late, weren’t they?

2 Somebody should have informed us, shouldn’t they?
3. Two of the girls are going shopping, are they?

4 One of the boys has finished his work, has he?



Identify the proverb which suggests that being honest is
crucial and the lies will eventfully be discovered.

1. The truth will set you free.
2. You can lead a horse to water, but you can’t make it
drink

All that glitters is not gold.
4. Don’t put all your eggs in one basket.

The professor’s detailed explanation helped to elucidate the
complex topic for the students.

Identify the synonym of the word ‘elucidate’ in the context.

1. Confuse
2. Obscure
3. Clarify

4 Conceal

The speaker was highly eloquent, delivering his message with
great clarity and persuasion.

Identify the opposite of the word, ‘eloquent’ in the context.

1. expressive
2 articulate
3. inarticulate
4 fluent

Identify the grammatically correct sentence.

1. She could not decide among the two shirts.
2 She could not decide between the two shirts.
3. She could not decided among the shirts.
4

She could not be decide between shirts.



16.

17.

18.

19.

They said to us, “It’s not a good idea to write your passwords
down”.

Choose the reported speech of the sentence.

1.
2.

They asked me to write my passwords down.

They suggested us that we should write our passwords
down.

They forced us to write the passwords down.

They advised us not to write our passwords down.

It is important to include body language in a conversation ...

1.

2.
3.
4

to fill up space in the dialogue
to show the setting clearly.
to convey emotions and intentions

to avoid using dialogue altogether.

Identify the first step in writing an effective news report.

1.

2.
3.
4

understand the structure
Research and gather information
Write the conclusion

Edit and proofread

Identify the emotive function example.

1.

2
3.
4

I can’t believe we won the match
Can you help me with my homework?
Water is essential for life.

Please open the door.



20.

21.

22.

23.

The proposal was well-received. , it met all the
requirements set by the committee.

1. Nevertheless
2 Some how
3. However
4

As a result

Identify the modal verb used for a future prediction which is
possible to happen certainly.

They arrive by noon.
1. might

2. should

3. would

4 could

One of the following terms describes the study of sound and
sound waves.

1. Electromagnetism
2 Thermodynamics
3. Optics

4 Acoustics

The cook planned to season the dish, knowing that the perfect
season would enhance the flavours during the summer season.

The word ‘season’ in the above sentence is used as
respectively.

1. a verb, a noun, and an adjective
2 a noun, an adjective and a verb
3. an adjective, a noun and a verb
4 a verb, a noun and a noun



24.

25.

26.

27.

Identify the sentence in which the word ‘play’ is used as a

noun.
1.

2.
3.
4

The children love to play outside after school.
She will play the piano at the concert.
The play received excellent reviews from the critics.

They plan to play a game of chess this evening.

If I had a million dollars, I would travel the world.

Identify the meaning of the sentence above.

1.
2.

I have a million dollars, and I am travelling the world.

I would travel the world if I had a million dollars, but I
do not.

I will travel the world next year.

I am travelling the world with a million dollars.

Identify the characteristic for a compound sentence.

1.
2.

It contains only one independent clause.

It contains one independent clause and one dependent
clause

It contains two or more independent clauses joined by a
conjunction or punctuation

It contains no independent clauses.

Identify an example of a plosive sound.

1.

2.
3.
4

/s/
/]
1t/
N/



28.

29.

30.

Identify the main characteristic of a lateral consonant
1. Produced by stopping the airflow completely.

2. Produced by directing airflow around the sides of the
tongue.

Produced by closing the vocal cords momentarily

4. Produced by touching the lower lip to the upper teeth.

Read the following passage.

"Amidst the cacophony of urban life, the old library's hushed
sanctum offered a rare refuge. Within its walls, time seemed to
slow, allowing the echoes of forgotten stories to resurface.
Each dusty tome held secrets of bygone eras, their pages
yellowed yet resilient. In this tranquil haven, the past and
present wove a delicate tapestry of knowledge."

The old library creates the following atmosphere according to
the passage.

1. A bustling and noisy environment
2 A Chaotic and disorganized space
3. A modern and high-tech setting
4

A quiet and reflective sanctuary

Read the following passage.

"Amidst the cacophony of urban life, the old library's hushed
sanctum offered a rare refuge. Within its walls, time seemed to
slow, allowing the echoes of forgotten stories to resurface.
Each dusty tome held secrets of bygone eras, their pages
yellowed yet resilient. In this tranquil haven, the past and
present wove a delicate tapestry of knowledge."

The following is suggested about the books in the old library.
1. They are new and frequently updated.

2 They are irrelevant and out of date.

3. They contain stories and knowledge from the past.

4

They are frequently borrowed and replaced.



31.

32.

33.

34.

Identify the primary reason the banker considers killing the
lawyer towards the end of the story. (The Bet)

1.
2.

The lawyer refuses to leave confinement.

The lawyer threatens to expose the banker’s financial
secrets.

The banker is financially ruined and can’t afford to pay
the bet.

The banker believes the lawyer has betrayed him.

Identify the primary theme of ‘Engine Trouble’ as portrayed
through the characters and their actions.

1.

2.
3.
4

The inefficiency and absurdity of bureaucracy.
The significance of personal relationships.
The beauty of rural life.

The impact of technological advancements.

Choose the primary purpose of Algernon Moncrieff’s creation
of the fictional character ‘Bunbury’. (The Importance of Being
Earnest)

1.

2.
3.
4

To avoid attending social functions
To facilitate romantic encounters.
To entertain his friends

To manage his finances

Identify Lady Bracknell’s main objection to Jack Worthing as
a suitor for Gwendolen. (The Importance of Being Earnest)

1.

2.
3.
4

Jacks’ lack of wealth
Jacks’ profession
Jack’s unclear parentage and background.

Jack’s lack of social connections.



35.

36.

37.

38.

Choose the primary reason for Viola’s decision to disguise
herself as Cesario. (Twelfth Night)

1.

2.
3.
4

To escape from a pursuer.
To gain employment and navigate Illyria.
To find her lost brother.

To avoid being recognised as a woman.

Choose the main consequence of Malvdlio’s belief that Olivia
loves him. (Twelfth Night)

1.

He is promoted to a higher position in Olivia’s
household.

He 1s welcomed into Olivia’s social circle.
He is confined and treated as mad.

He is rewarded with financial gain.

Choose the primary setting of ‘To kill a Mockingbird’ by
Harper Lee.

1.

2.
3.
4

New York City
Atlanta, Georgia
Chicago, Illinois
Maycomb, Alabama

Choose the event that becomes a focal point for racial tension
in the story of ‘To kill a Mockingbird’

1.

2.
3.
4

The town’s annual festival
The election of the mayor

A School play

Tom Robinson’s trial
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40.

41.

42.

Choose the primary purpose of George Orwell’s ‘Animal

Farm’.
1.

2.
3.
4

To depict farm life in a rural setting
To explore animal behaviour and biology
To describe the adventures of farm animals.

To satirise the Russian Revolution and its aftermath.

Identify the role of Squealer in ‘Animal Farm’

1.

2.
3.
4

Choose the type of misuse of studies Bacon warns against. (Of

To lead the rebellion
To manage the farm’s economic policies
To oversee the animals labour.

To spread propaganda and manipulate the truth.

Studies)

1. Over - study

2. Superficial knowledge

3. Application of knowledge
4 Balanced study

Choose the element that Rajagopalachari identifies as crucial

for uniting people within a nation. (What Makes a Nation)

1.

2.
3.
4

Economic resources
Geographic size
Military power

Shared ideals and values



43.

44,

45.

46.

Choose the type of conflict that involves a character struggling
with their own internal dilemmas or emotional issues.

1. External conflict

2 Societal conflict

3. Environmental conflict
4 Internal conflict

Choose the image used in the poem. ‘Where the Mind is
without Fear’, to contrast enlightenment with stagnation.

1. The head is held high

2. Narrow domestic walls
3. Clear stream of reason and dreary desert sand of dead
habit.

4. Words come out from the depth of truth

Identify the tone of ‘A Slumber Did my Spirit Seal’.
1. Joyful and celebratory

2 Angry and confrontational

3. Tranquil and contemplative
4

Pessimistic and resigned.

Identify the figure of speech where one term is substituted for
another closely related term, such as using ‘the crown’ to
represent royalty.

1. Simile

2 Metaphor
3. Metonymy
4

Alliteration



47.

48.

49.

50.

Identify the type of drama that is based on real events and
aims to depict these events with dramatic flair while remaining
factual.

1. Docudrama
2 Tragedy

3. Comedy

4 Farce

Choose the type of poem that reflects on themes of grief and
loss, often mourning someone or something.

1. Ode

2 Elegy

3. Haiku

4 Limerick

Identify the phase of listening that involves reflecting on and
discussing the listening activity.

1. Pre-listening

2 While-listening
3. Post-listening
4

Focussed listening

Choose the best option that fits the blank.

The learning outcomes proposed by NCERT are
based and can be measured qualitatively or quantitatively.

1. memory

2 competency
3. translation
4 grammar



51.

52.

53.

54.

Identify the step of transacting writing skills that involves
refinement in groups.

1. Individual attempt

2 Presentation of one group product
3. Copy writing

4 Assigning the task to a group

Identify the activity suitable for developing speaking skills at
the elementary level.

1. Dialogues

2 Group discussions
3. Following directions
4

Oral composition

Identify a type of reinforcement used in teaching.
1. Interactive Flat Panel

2 Positive non-verbal

3. Silent Criticism
4

Ignoring mistakes

Choose the best option that fits the blank.

Preparing documents, reports and records for future reference

is a purpose of in writing.
1. organisation

2 content

3. evaluation

4 proficiency



55.

56.

57.

58.

Vivian Cook’s multi-competence approach to second language
acquisition views individuals as:

1. Language learners

2 L2 users

3. monolingual speakers
4 grammar experts

Identify the hypothesis by Krashen that states language
learners learn grammatical structures in a fixed and universal
way.

1 Monitor Hypothesis

2 Input Hypothesis

3. Affective Filter Hypothesis
4 Natural Order Hypothesis

Choose the best option that fits the blank.

According to NCF 2005, stories, dramas and poems relate
children to their

1. linguistic skills

2 cultural heritage

3. relationship with siblings.
4 linguistic knowledge

Choose the best option that fits the blank.

The aim of remedial teaching is to provide additional help to
pupils who have

1. surpassed their peers.

2 consistently high performance

3. fallen behind the rest of the class.
4

average academic achievement



59.

60.

Identify the principle of sequencing content that involves

learning prerequisite knowledge before advancing.

1.

2.
3.
4

Spiral Approach
Chronological learning
Simple to complex

Prerequisite learning

Identify the sequence of curriculum development.

1.

2.
3.
4

Renewal, Evaluation, Design, Implementation
Design, Evaluation, Implementation, Renewal
Design, Implementation, Evaluation, Renewal

Renewal, Design, Implementation, Evaluation
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